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Ex1:

x = linspace(-2*pi, 2*pi); % 1F-2*piEl[2*pi [&] °
%77 HY100 1%L

y = cos(x);% ”rﬁyx HYER 5% N EUE

plot(x, y);% HET P EITERLE
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x = linspace(-2*pi, 2*pi); % 1F-2*piEl[2*pi [H] °
=57 HY100 1{[&EL

plot(x, cos(x), x, sin(x) X, cos(x)-sin(x));
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A ARLEE-2 (1)

plot(x, cos(x), x, sin(x), x, cos(x)-sin(x));
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x = linspace(-2*pi, 2*pi); % {E-2*piE2*pi [&] -
77 H{100 {[E %S
plot(x, sin(x), '0', x, cos(x), X', x, sin(x)+cos(x), '*');
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e plot(x, sin(x), x, cos(x), X, cos(x)-sin(x))
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bx -3y +5z2=12
{ 10x + 4y -8z =-20
-6x + 2y +3z = 15
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>>A=[6-35; 104 -8; -6 2 3]; % E1T(4EFEH

B=[12; -20; 15];
6 -3 5 12 7
A:l10 4 -8 B: |-20
6 2 3] -15-

>> C=A; D=A; E=A;
>> (C(:,1)=B; D(:,2)=B; E(:,3)=B;

12 .3 51 [612 571 [6 -3 12
C: 20 4 -8 D:|10 -20 -8| E: 10 4 -20
15 2 31 16 15 3] [-6 2 15




>> det(A) % AFEFERNT T

dns =

ari

334 :
>> x=det(C)/det(A) *= -
x=0.0479 d e
>> y=det(D)/det(A) A
y=2.1737

>> z=det(E)/det(A)
z= 3.6467
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FERRIA

SZFEPEASKAE  [A]IX] = [C]

—tAtHATIX] =[A]7[C
— [XI =[A]"*[C]

FEbRIZE

[A]\[A] [X] = ﬁ] MATLAB7F5%: \
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~ b6Xx-3y+5z=12
4 10x + 4y -8z =-20
L -6X + 2y +32 = 15

-A=[6-35; 104 -8; -6 2 3];
—-C=1[12;-20;15];

—X = A\C
0.0479 ------X
Ry ——
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